
190602





190602



190602



190602



190602



190602

690mm(27.2")-1200mm(47.2")
1200mm(47.6")-1813(71.4")
32mm(1.26")

176Ibs.

esperando
is



190602



190602

M4D124GM-03

1 190636 LEFT LEG GRAY

1906371 RIGHT LEG GRAY

S1906391 LEFT TOP FRAME GRAY

190635 FEET GRAY2

1906412 CENTER RAILS GRAY

S1906401 RIGHT TOP FRAME GRAY

1906421 SHORT HEXAGON BAR GRAY

H 1 190643 ALUMINUM JOINT GRAY

I 1 190644 LONG HEXAGON BAR GRAY

J 2 190638 SIDE BRACKET GRAY

K 1 190645 CONTROL BOX

L 1 190646 SWITCH



190602

175017

M5x16

2

M5x20

8
175016

M6x20

193838
4

M6x14

8
175014

M3x20

193840
2

193839

M8x10

8

M6x10

175015
12



190602

193841
1

6mm Wrench

193842
1

2.5mm Allen Wrench

Power Cord

1
190647 175011

1

1.3M Cable

Leveler

175012
4

Cable Clip

175018
10

1

190497
1

Locator Block



190602



190602

1210mm/47.6"MIN.
1813mm/71.4"MAX.

M4D124GM-03

76
0m

m
/3

0"
M

A
X

.
61

0m
m

/2
4"

M
IN

.



190602

É

H175015

M6x10

2 H26328

4mm Allen Wrench

1

Step1

Step2



190602

H175015

M6x10

4 H26328

4mm Allen Wrench

1



190602

H175014

M6x14

4 H26328

4mm Allen Wrench

1



190602

H175015

M6x10

2 H26328

4mm Allen Wrench

1

Step 1

R R

Step 2

’É



190602

H175015

M6x10

4 H26328

4mm Allen Wrench

1



190602

H175014

M6x14

4 H26328

4mm Allen Wrench

1



190602



190602



6mm Wrench

190602

H193841 1

Step1

Step 2

Locator Block

H190497 1

Locator Block
Bloc de localisateur
Bloque Localizador



190602

é ê



190602

6mm Wrench

H193841 1

12

Locator Block

H190497 1

Locator Block
Bloc de localisateur
Bloque Localizador



190602

H193838

M6x20

4 H26328

4mm Allen Wrench

1

13



190602

H175016

M5x20

4

14



19060215 - Install 48 inch and 60 inch Tops

2.5mm Allen Wrench

H193842 1

Locator Block

H190497 1

Position hexagon bar locator block beside the Motor as shown.
Coloque el bloque localizador de barra hexagonal al lado del motor como se muestra.
Positionnez le bloc localisateur de barres hexagonales à côté du moteur, comme indiqué.

Hexagon bar locator block
Bloque localizador de barra 
hexagonal
Bloc localisateur de barres 
hexagonales

Note: Go to Step 16 if installing 72 inch (1.8M) Top. 
Nota:Vaya al Paso 16 si está instalando 72 pulgadas (1.8M) 
en la parte superior.
Remarque: Passez à l'étape 16 si vous installez une partie 
supérieure de 72 pouces (1,8 m). 

Go to step 17
Ir al paso 17
Passez à l'étape 17



190602

2.5mm Allen Wrench

16  -  Install 72 inch Top 

H193842 1

Locator Block

H190497 1

Position hexagon bar locator block beside the Motor as shown.
Coloque el bloque localizador de barra hexagonal al lado del motor como se muestra.
Positionnez le bloc localisateur de barres hexagonales à côté du moteur, comme indiqué.

Hexagon bar locator block
Bloque localizador de barra 
hexagonal
Bloc localisateur de barres 
hexagonales



19060217

H193839

M8x10

8 H26328

4mm Allen Wrench

1



19060218

4
4
4



19060219

H175016

M5x20

4



19060220

H193840
M3x20

1

Note: Screw controller (K) to Top using one existing hole as shown.  
Refer to STEP 21 for second screw hole drilling procedure.
Nota: Atornille el controlador (K) hacia arriba utilizando un orificio 
existente como se muestra. Consulte el PASO 21 para el segundo 
procedimiento de perforación de agujeros de tornillo.
Remarque: Vissez le contrôleur (K) en haut en utilisant un trou existant, 
comme indiqué. Référez-vous à l'étape 21 pour la procédure de perçage 
du deuxième trou de vis.



19060221

Note:Drill three (3) screw holes:  (2) for switch and 
(1)for controller box mounting as show.
Nota: Taladre tres (3) orificios para tornillos: (2) para 
el interruptor y (1) para el montaje de la caja del 
controlador como se muestra.
Remarque: percez trois (3) trous de vis: (2) pour le 
commutateur et (1) pour le montage du boîtier du 
contrôleur, comme indiqué



19060222

H175017

M5x16

2 H193840

M3x20

1

H193840

H175017



190602

1.3M Cable

23



19060224



19060225

24



19060226

á

ó
ó

ó
¡

à
é è

é
é

à é è é è ’ ê
â



190602

176 80
80176
80176

27




